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�� In the previous homework� we have plotted the fundamental solution� U�s� x��
in the closed and degenerate forms as follows�
Closed form�

U�s� x� � ln�r�

Degenerate form�
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where s � �R� ��� x � ��� �� and r �j x� s j�
�� Please derive the closed forms for L�s� x� and M�s� x��
	� Please derive the degenerate forms for L�s� x� and M�s� x��

� Plot the contours for L�s� x� and M�s� x� using ��� and �	�� explain why the

results are not the same�
Closed form�

�s�� s�� � ��� ��

n�x� � ��� ��� n�s� � ��� ��

Degenerate form�
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n�x� � e�� n�s� � eR
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